FTR28FE F 1PN PEARESHIIBEE (FREREVS—)

(ER28%F5A~Fm2848A)

<IRADER> (B H)
] B i X %8 R A % IR A X & & | =
1 ZRERE 98,685,420 96,186,390 2,499,030
1 INERERE 95,952 530 95,255,110 697,420
2 fIEGHBE 412,900 412,900 0
3 BEFEERFEE 2,319,990 518,380 1,801,610
4 AHARISEE — — —
5 ZDih 0 0 0
2 ABLE 65,280 65,280 0
1 PTAZEHBRE 65,280 65,280 O|10m=EHE - L2724 510
3 e 2,578,731 2578,731 0
1 HIFHRIEH S — — —
2 RIEERUE 2,578,731 2578,731 ORI EEIRZHEE LY
4 HULA 43,500 43,500 0
1 BEHAEE 43,500 43,500 O|BE;8 40,000, E8R—JL 3,500
2 TNt — — —
a it 101,372,931 98,873,901 2,499,030
<ZHDER>
= B X HRTE E X W % x # % li| =
1 WWEBMHE 92,656,628 92,656,628 0
1 FBE 14,098,968 14,098,968 QK- /- EFE
2 BB 78,557,660 78,557,660 0|42 KEFHF
a i 92,656,628 92,656,628 0
IR AKAEE 98,873,901 H
- R HHiR%E 92,656,628 H
-E5IES 6,217,273 A FER28FEF 2R~ EH




FR28FE F 1 AP FRERESHXBEE(FREREV5—)

(ER2845H ~FE/2848AH)

<INA®DE > (B ~7M)
] = RO %8 IR A % IR A X K & liE =
1 FREBE 57,027,503 55,536,620 1,490,883
1 PERIEBE 55,357,020 54,774,020 583,000
2 SHESHRE 719,840 719,840 0
3 BEERFEE 950,643 42,760 907,883
4 AHARISEE — — —
5 ZNith 0 0 0
2 ABEE 8,400 8,400 0
1 PTASHBSE 8,400 8,400 0|21 HE - 304 S0
3 e 1,165,551 1,165,551 0
1 HFHRAEH S — — —
2 HIEEZEE 1,165,551 1,165,551 ORIEENRZHELY
4 HITA 41,098 41,098 0
1 BEHAEE 41,098 41,098 O|BE;8 38,000, B8 R—JL 3,098
2 ZThih — — —
=] Eil 58,242,552 56,751,669 1,490,883
<ZH®DE>
] = X HRTE E X H % x* # % liE =
1 WBWBMHE 52,719,145 52,719,145 0
1 ¥B% 7,605,161 7,605,161 (VB SVAVZE i Lo
2 BIgE 45113,984 45113,984 |43k
=) it 52,719,145 52,719,145 0
IR A # %8 56,751,669 H
¥ H ¥ % 52,719,145 H
= 5 % 5 4032524 M FER28FEF2FHEET g




